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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheel.

1- It’s an ----=-==-—— to their friends as to why the couple broke up because they seem

perfect for each other,
1) interference 2) inference 3) alteration 4) enigma

2-  Mr. Baker has decided to move to a big city because of a ----eee- --- of employment
opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth

3- Do you know of an alternate route we could take o -—=eeeeeee having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using —-----------
rather than elaborate language.

1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an - pessimist when he discusses the weather. For
example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.

1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to -—-------- its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

7- 1 would like to compliment Jaden for the course of action he recommended because |
think it will -==<====-==-= our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

8- An -eeeeeeeee is often expressed as a simile, as in “The football game was like a battle
between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena
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9-  There are many good reasons for not smoking, but those having to do with health are

the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -——--—-—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The ecarliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemeemen the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) ~=-emmeeee- by Homo sapiens. which is estimated to be 73,000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)1s 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

According to one old song. love and marriage go together like a horse and carriage.
These days, however, a long-lasting marriage may be almost as hard to find as a horse
and carriage on our busy streets. Statistically. it is now more likely that a marriage will
end in divorce than continue in a loving relationship. It makes you wonder if getting
married is worth the effort.

Is it simply the case that marriage has become a gamble with less than a 50%
chance of success? Not really, say researchers at the Newport Institute. who have
discovered that there are clear clues to what makes a successful marriage. The
Newport researchers have been conducting a study of married couples for the past ten
years. They started with 50 pairs of newly-weds and interviewed them every six
months. During that time, 11 of the couples dropped out of the study, 15 couples split
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up and 24 couples stayed married. The researchers were delighted that so many of
their couples stayed together, but they do not think that it was simply a matter of luck.

One clear sign of a happy relationship is the frequent use of 'we' by a couple. This
is one indication that the couple speaks with a single voice about their experiences.
Another clue is how past experiences are described. The happily married couples tend
to focus on their experiences together, even when describing difficulties. As an
example, two different couples described holidays in which their suitcases were lost.
One couple (still married) reported that it was one of their best memories because they
went out and bought some really different clothing and had a crazy time. Another
couple (no longer married) ended blaming each other for everything going wrong
during the holiday.

In paragraph 1, how does the author demonstrate that most marriages fail?
1) By defining a basic concept

2) By identifying various types of carriages

3) By giving an example of a loveless marriage

4) By comparing a long-lasting marriage to a rare phenomenon

Which of the following best describes the meaning of the underlined sentence in
paragraph 1?

1) Couples who get divorced do not make an effort to remarry.

2) People are not willing to marry because of the difficulties involved.

3) Couples who get married get into troubles that they had never anticipated.
4) People are not sure whether to marry due to the failure of many marriages.
Why does the author refer to a study in paragraph 2?

1) To prove that most couples refuse to be interviewed

2) To explain why only a few of the participants split up

3) To strengthen the idea that half of all marriages end in divorce

4) To support the idea that a successful marriage is not coincidental

The word "it" in paragraph 2 refers to —----ecmeeeeeas,

1) the couples splitting up

2) the couples staying together

3) the researchers being delighted

4) the couples dropping out of the study

What does the paragraph following the passage most probably discuss?

1) Shared interests of happily married couples

2) Why couples get into arguments during holidays

3) Other contributing factors to a long-term marriage

4) Researchers’ findings about marriages which break down

PASSAGE 2:

For many hundreds of thousands of people worldwide, online networking has become
enmeshed in our daily lives. However, it is a decades-old insight from a study of traditional
social networks that best illuminates one of the most important aspects of today's online
networking. In 1973 sociologist Mark Granovetter showed how the 'weak ties' in our
social network exert a disproportionate influence over our behavior and choices.
Granovetter's research showed that a significant percentage of people get their jobs as
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a result of recommendations or advice provided by a weak tie. Today our number of
weak-tie contacts has exploded via online social networking. "You could not maintain
all of those weak ties on your own,' says Jennifer Golbeck of the University of
Maryland. 'Online sites, such as Facebook. give you a way of cataloguing them.' The
result? It is now significantly easier for the schoolfriend you have not seen in years to
pass vou a tip that alters your behavior, from recommendation of a low-cholesterol
breakfast cereal to a party invite where you meet your future wife or husband.

The explosion of weak ties could have profound consequences for our social
structures too, according to Judith Donath of the Berkman Center for Internet and
Society at Harvard University. '"We are already seeing changes.' she says. For example.
many people now turn to their online social networks ahead of sources such as
newspapers and television for trusted and relevant news or information. What they
hear could well be inaccurate, but the change is happening nonetheless. If these huge
'supernets' — some of them numbering up to 5.000 people — continue to thrive and
grow, they could fundamentally change the way we share information and transform
our notions of relationships.

What does the passage mainly discuss?

1) Patterns of interaction in social spheres

2) Why online social networking is on the rise

3) A particular aspect of online social networking

4) How weak ties become stronger via online social networks

The word "illuminates" in paragraph 1 could best be replaced by —-—seeceecaeaeee,
1) covers 2) clarifies 3) reveals 4) addresses
It is suggested in paragraph 1 that our loose acquaintances -—--—---==-=envv x

1) can make positive changes in our lives

2) have an extensive knowledge of healthier diets

3) recommend us for jobs that do not require vision

4) can be classified in order of importance on Facebook

Which of the following can be inferred about newspapers and television?

1) They have transformed our social structures.

2) People turn to them when social networks provide irrelevant information.

3) They play a less important role than previously as a source of information.

4) People do not entirely trust them because they sometimes release erroneous information.
What function does the underlined part play in relation to the information stated in
paragraph 2?

1) It casts doubts on the main point of paragraph 2.

2) It reaffirms the claim already made in paragraph 2.

3) It suggests reasons for a change described earlier in paragraph 2.

4) It introduces a warning about a requirement discussed earlier in paragraph 2.

PASSAGE 3:

On a cold winter day in 1938, a concerned social worker walked anxiously to the door
of a rural Pennsylvania farmhouse. Investigating a case of possible child abuse, the
social worker soon discovered a five-year-old girl hidden in a second-floor storage
room. The child. whose name was Anna, was wedged into an old chair with her arms
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tied above her head so she could not move. She was wearing filthy garments, and her
arms and legs were as thin as matchsticks.

Anna's situation can only be described as tragic. She was born in 1932 to an
unmarried mentally impaired woman of twenty-six who lived with her father. Enraged
by his daughter's "illegitimate" motherhood. the grandfather did not even want the
child in his home. Anna, therefore, spent the early months of her life in the custody of
various welfare agencies. But her mother was unable to pay for this care, so Anna
returned to the home where she was not wanted. Because of her grandfather’s hostility
and her mother's indifference, Anna lived alone in a room where she received little
attention and just enough milk to keep her alive. There she stayed—day after day,
month after month. with virtually no human contact—for five years.

Upon learning of the discovery of Anna, sociologist Kingsley Davis traveled
immediately to see the child. He found her in a county home. where local authorities
had taken her. Davis was appalled by the sight of the emaciated child. who could not
laugh, speak. or even smile. Anna was completely apathetic. as if alone in an empty
world.

What is the main topic of the passage?

1) How many illegitimate children are treated

2) How a sociologist helped an abused child recover emotionally

3) The discovery of a child who was living in appalling conditions

4) The fundamental concepts of child psychology that rural mothers must learn
Why does the author mention "matchsticks" in paragraph 1?

1) To suggest that Anna was too weak to move her arms and legs

2) To demonstrate that Anna was not in a fit enough mental state

3) To warn that Anna was likely to endanger her life

4) To describe Anna's physical state

Which of the following best describes the function of the underlined sentence in
paragraph 2?

1) It explains why Anna's grandfather resented her.

2) It introduces facts about violating cultural taboos.

3) It supports an assertion made in the preceding sentence.

4) It shows that Anna did not generally live up to her grandfather’s expectations.
The word "apathetic" in paragraph 3 is closest in meaning t0 ~--------venvu- b

1) uninterested 2) unprotected

3) undisciplined 4) uncomfortable

All of the following are true about Anna EXCEPT --—eceeeeeeee —

1) her mother seriously neglected her

2) she did not receive adequate nutrition

3) her mother refused to seek her full custody

4) a number of welfare agencies looked after her for some time
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